Name: Date:

Teacher: Class:

Multiplication/Division 402

How do you stop rabbits digging up your garden? Easy -
take their spades away!

Multiplication and Division

L Bx6= 18. 9x@ = 3% 10x6=
2 f+6= 19 60+ 6= % 36+6=
3 1x6= 20. 3x 6= 3. 4 x6=
4. 42+ 6= 2. 66 +6= ¥ 12+6=
5. 8x6= 2. 2 x 6= % 11x6=
6. 54+@= 23. 48+ 6 = 0. 18 +6 =
7. §Bx@= 24. 12 x6 = al. 7 x6=
8. 24+6= 25. 30+6= 2. 72+6=
9. 12x6= 6. 11x6= B 2x6=
10. g+6= 2. 36+6 = 4. 12+6=
1L 106 = 2. 6 x6= 5. 4 x6=
12. g4+ 6= 29. 66 =6 = 46. 24 +6 =
13. 3x6= 3. 8x6= 47. 12 x6 =
14. g0 < 6 = 3. 48+ 6 = 8. 54 +6 =
15 9x@= 3. 11 x6 = 499. 7 x6 =
16. 79 £ 6 = 3. =6 = 0. 18+ 6=
17. 1 x G = 3. 5 x6=
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6x6=36

6+-6=1

1x6=6

42 -6 =7

8 x6 =48

54+6=9

5x6=30

24 +-6=4

12x6 =72

6+-6=1

10 x 6 = 60

54 -6=9
3x6=18

60 +6 =10

O9x6=54

72+6=12
1x6=6
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Answer Key

Date:

Teacher:

Class:

Multiplication/Division 402

How do you stop rabbits digging up your garden? Easy -

take their spades away!

Multiplication and Division

9x6=54
60 +6 =10
3x6=18
66 +6=11
2x6=12
48 +6=8
12x6=72
30+6=5
11 x6 = 66
36+6=6
6 x6= 36
66 +6=11
8 x6 =48
48 +6=8
11 x6 = 66
6+6=1

5x6=30
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10 x 6 = 60
36+6=06
4x6=24
12+6=2
11 x6 = 66
18+6 =3
7 X6 =42
72+6=12
2x6=12
12+6=2
4x6=24
24 +-6=4
12x6 =172
54+6=9
7%xX6=42
18+6 =3
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